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QUESTION 1

You are asked to deploy a base configuration Vblock System 320. 

How many Cisco UCS blades will be installed? 

A. 2 

B. 4 

C. 8 

D. 16 

Correct Answer: B 

 

QUESTION 2

What is the number of domains required when deploying a Vblock System 720 with 16 UCS chassis on a single pair of
fabric interconnects? 

A. 1 

B. 2 

C. 4 

D. 8 

Correct Answer: A 

 

QUESTION 3

Which two storage connectivity types are associated with block level access? (Choose two.) 

A. NFS 

B. iSCSI 

C. CIFS 

D. FCP 

Correct Answer: BD 

 

QUESTION 4

What are three components of the Cisco UCS system that make up the Vblock System 320 compute layer? (Choose
three.) 
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A. X-Blade Data Movers 

B. fabric interconnect 

C. Cisco Nexus switch 

D. fabric extenders 

E. chassis 

Correct Answer: BDE 

 

QUESTION 5

In a Cisco Nexus 1000V, what is the default number of ports created in a vEthernet port profile? 

A. 32 

B. 128 

C. 256 

D. 512 

Correct Answer: A 

 

QUESTION 6

You observe that a host in a high availability (HA) cluster shows as disconnected within vCenter. The virtual machines
running on the disconnected host have not automatically restarted as expected. 

What is the cause of this problem? 

A. NTP was not configured on the HA cluster. 

B. vMotion is not enabled on the cluster hosts. 

C. The disconnected host was the master host. 

D. The host is still exchanging a data store heartbeat. 

Correct Answer: D 

 

QUESTION 7

Which RAID type is used for the Cisco UCS C220 servers in a Vblock System 320 Advanced Management Pod (AMP)? 

A. RAID 0 

B. RAID 1 
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C. RAID 5 

D. RAID 6 

Correct Answer: C 

 

QUESTION 8

What is the data store location for Management Virtual Machines, in the high availability Advanced Management Pod
(HA-AMP)? 

A. EMC VNXe 

B. EMC VNX 

C. Cisco UCS C220 

D. Cisco UCS B440 

Correct Answer: A 

 

QUESTION 9

The implementation profile located in the Logical Configuration Survey (LCS) identifies if the customer will be using
which two solutions? (Choose two.) 

A. EMC SnapView 

B. Cisco IAC 

C. Cisco Unified Communications 

D. VMware vCloud Director 

Correct Answer: CD 

 

QUESTION 10

-- Exhibit -
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-- Exhibit -Click the Exhibit button. 

Referring to the exhibit, which Vblock System 320 component is "A"? 

A. Cisco Nexus 5000 Series switch 

B. Cisco Chassis containing blade servers 

C. UCS fabric interconnect 

D. Cisco MDS switches 

Correct Answer: A 

 

QUESTION 11

You are backing up a Cisco UCS configuration. 

Which parameter should you select to retain assigned vHBAs, WWPNs, vNICs MACs, WWNNs, and UUIDs? 

A. Retain Identities 
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B. Preserve Identities 

C. Include Identities 

D. Copy Identities 

Correct Answer: B 

 

QUESTION 12

What is the boot LUN size for an ESXi installation on a Vblock System 320? 

A. 10 GB 

B. 20 GB 

C. 40 GB 

D. 60 GB 

Correct Answer: B 

 

QUESTION 13

What are two expected results of the VMware vMotion test plan conducted by VCE at the completion of a Vblock
System build? (Choose two.) 

A. No unexpected errors or faults occur. 

B. The secondary VSM takes over from the primary VSM. 

C. There will be minimal packet loss during vMotion. 

D. Traffic fails over to the redundant port channel each time a port-channel is disabled. 

Correct Answer: AC 

 

QUESTION 14

On a Vblock System 720 storage array, LUNs are presented to a server through a masking view. 

Which three components are included? (Choose three.) 

A. initiator group 

B. storage group 

C. WWN group 

D. LUN group 
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E. port group 

Correct Answer: ABE 

 

QUESTION 15

Which Vblock System 320 component provides Fibre Channel network connectivity in a unified network architecture? 

A. Cisco MDS 9148 

B. Cisco Nexus 5548UP 

C. Cisco Nexus 1000V 

D. Cisco Catalyst 3750 

Correct Answer: B 
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